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In external synchronization mode, a resistor is connected between the RT pin and GND. The Sync pin requires a
toggling signal for this mode to be effective. The switching frequency of the device goes 1:1 with that of Sync pin.
External system clock-user supplied sync clock signal determines the switching frequency. If no external clock

signal is detected for 20 ps, then TPS50601-SP transitions to its internal clock which is typically 500 kHz,.
external synchronization usifg an verter to cbiain Ghase INVerSion 1S REGESSAY, RT values of master and siave

converter must be within 5% of the external synchronization frequency. This is necessary for proper slope
compensation. A resistance in the RT pin required for proper operation of the slope compensation circuit. To
determine the RT resistance for a given switching frequency, use Equation 6 or the curve in Figure 21. To reduce
the solution size one would set switching frequency as high as possible, but tradeoffs of supply efficiency and
minimum controllable on time should be considered.




